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5.5. 1HFFIHSHERBI

1. Factorial Notation (fi7Fe) :

Bii1, 2, 3= A=A, BAE0seEE: BAEBH,
TR, MU R, 3*2*1=3]

N NEMZL, 2, 3, ..., nBBESRFEREANEY “BAi3R” |, iBfEn! |, (4!
=4*3*2*1) , FRIMFAMET, BP0 =11 =1,

*nl =n (n-1) |
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5.5. 1HFFIHSHERBI

2. Permutation (HE%) :
oJESHA:

MNP AR ERTERay, a, as..., a,F, BREIEERMIX, SRE—,
FTEEI AR IHBZ/Df? XFFEFIHEN R,
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5.5. 155 B SIS

2. Permutation (HE%) :

AeTEEHFIEFRIHEF AR :

BRI, 2, 3, 4, SEANMEEFEHEM=(F, RIEIEHEDTT—
HE5*4*3=60F01F .
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5.5. 1HFFIHSHERBI

2. Permutation (HE%) :
AeTEEHFIEFRIHEF AR :

IERAIRZS—RRAYIER, )\)\n/\ij“?kﬂlﬂ)itljm/\ﬁ%(m <n),
JEXIMANISIZIRFHES, HES—BYEnkeIgE, B _AIEN-1#E,

MBS (n-m+1) 7, H8

nn—1)n—-2)..(n—m+1)
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5.5. 1HFFIHSHERBI

2. Permutation (HE%) :
AeTEEHFIEFRIHEF AR :

IERAIRZS—RRAYIER, )\)\n/\ij“?kﬂlﬂ)itljm/\ﬁ%(m <n),
JEXIMANISIZIRFHES, HES—BYEnkeIgE, B _AIEN-1#E,

FEmEE (n-m+1) ¥, 5
nn—1)n—-2)..(n—m+1)

(n—-m)l  nl

nn—-1)n—-2)..(n— m"‘l)( —m)! (n—m)!
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5.5. 1HFFIHSHERBI

2. Permutation (HE%) :
AeTEEHFIEFRIHEF AR :

IERAIRZS—RRAYIER, )\An/\ij“?kﬂlﬂ)itljm/\ﬁ?k(m <n),
JEXIMANISIZIRFHES, HES—BYEnkeIgE, B _AIEN-1#E,
MBS (n-m+1) 7, H8

(1<m<n)

XEERORTREL AR, P = 2

-m)!
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5.5. THABSHEIMES
3. Recombination (HE&) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087
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5.5. 1HFFIHSHERBI

3. Recombination (HE&) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

ABC ABD ABE ACD ACE ADE BCD BCE BDE CDE, 1074,
ARERFR, ATNREE=TE10MAENER, =13

FHEFHEER3! =68, WP ERBFMEAFIRIER (Mn1
MIERFIEBEM PR < n), EEEAHIFRISETACT)
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5.5. 1HFFIHSHERBI

3. Recombination (HE&) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

ABC ABD ABE ACD ACE ADE BCD BCE BDE CDE, 1074,
ARERFR, ATNREE=TE10MAENER, =13

FHEFHEER3! =68, WP ERBFMEAFIRIER (Mn1
MIERFIEBEM PR < n), EEEAHIFRISETACT)

1B A =15 EAHEF R
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5.5. THABSHEIMES
3. Recombination (HE&) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

e B A =1%EAHF R

Pt = C]t xm!
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5.5. THABSHEIMES
3. Recombination (HE&) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

e B A =1%EAHF R
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5.5. 1HFFIHSHERBI

3. Recombination (B#) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

e B A =1%EAHF R

P = Ct xm!
P n!

m__"n __ " <
Cn m! m!(n-— m)'(1 m<n)

Cll=Cl"™1<m<n)
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5.5. 1HFFIHSHERBI

3. Recombination (B#) :

81, 2, 3, 4, SANEFAEM= N, XKABCDEFIEZH==F
&, BAEXHITHY (RNEEHF) | 62087

e B A =1%EAHF R

Pt = C]t xm!

cm Py n! (1< m<n)
- — — n

" ml ml(n—m)! m

Cl=Cl""1<m<n)

0'=1C=P°=1Cl=Pl=nn=1)
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5.5. 1HFFIASHEXREI

3. Recombination (HE&) :

5]: From the 5 points A, B, C, D, and E on the number line
below, 3 different points are to be randomly selected. What is
the probability that the coordinates of the 3 points selected

will all be positive?

E
10
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5.5. 1HFFIHSHERBI

4. MBS S RERIETER

M ESSEEAREANR: NR—RREPREEERERITERAP,
33&ﬁ&g>ﬂ§ﬂﬁ§%§1¢':F'J\X1¢$'réu\§_7r7§$ﬁg KOREVEEER AP, (K) =
CK « PK(1 — p)n~

1§U RSSUERSTIRERZE80%, KEXRTURPE4REHRAIEE
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1. A linen shop has a certain table cloth that is available in 8
sizes and 10 colors. What is the maximum possible number of
different combinations of size and color available?
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2. A gardener wishes to plant 5 bushes in a straight row. Each
bush has flowers of a different solid color (white, yellow, pink,
red, and purple). How many ways can the bushes be arranged
so that the middle bush is the one with red flowers?
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3. What is the total number of different 5-digit numbers that
contain all of the digits 2, 3, 4, 7 and 9 and in which none of
the odd digits occur next to each other?
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4. In a series of races, 10 toy cars are raced, 2 cars at a time. If
each car must race each of the other cars exactly twice, how
many races must be held?
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5. Three red marbles and two white marbles are placed in an
empty box. One marble at a time Is to be selected randomly and
removed from the box until all 5 marbles have been removed.
What is the probability that each of the first 3 marbles removed

will be red?
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6. The buyer of a certain mechanical toy must choose 2 of 4
optional motions and 4 of 5 optional accessories. How many
different combinations of motions and accessories are
available to the buyer?
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7. 1n a soccer league, if there were 10 teams, and each team
played each of the other teams 16 times, how many games did
each team play?
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